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On my signal -- unleash hell!

I've come to agree there's a balance problem with PM/DD starting in mid-1942. It occurs, I think, because most Soviet players aren't anywhere near as obliging to their German opponents as Stalin was

historically during this period. That is, most players won't burn off a large portion of the Red Army in an increasingly futile winter counter offensive that really goes no where in particular once it stops the

German drive. Therefore, add the rule below as a corrective to the "How To Win" section of the rules when playing combined PM/DD. This rule functions in addition to the game's normal victory conditions.

(My approach is to always try the simple, most direct solution first, before you going making new CRTs, combat systems, etc.) 

At the very start of each of his combat phases from I December 1941 until the first mud weather occurs in 1942, inclusive, the Soviet player rolls three dice. That result (3 – 18) is the number of attacks the

Soviet player must make that phase. If he fails to make the required number of attacks, the game is immediately forfeit to the German player. The Soviet player is always free to make more attacks than is

required by the dice roll, but making even just one less means he's lost the game.

